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QUESTION 1

You execute this command: 

Sufficient storage is available in filesystem /u01. 

Which two statements are true about the BIG_TBS tablespace? (Choose two.) 

A. AUTOEXTEND is possible for the datafile 

B. It must be bigger than the largest SMALLFILE tablespace 

C. Additional data files may not be added 

D. It will be a dictionary-managed tablespace by default 

E. It will always have a 32K blocksize 

Correct Answer: AC 

 

 

QUESTION 2

In one of your databases, user KING is: 

1.

 Not a DBA user 

2.

 An operating system (OS) user 

Examine this command and its output: 

What must you do so that KING is authenticated by the OS when connecting to the database instance? 
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A. Set OS_AUTHENT_PREFIX to OPS$ 

B. Have the OS administrator add KING to the OSDBA group 

C. Grant DBA to KING 

D. Unset REMOTE_LOGIN_PASSWORDFILE 

E. Alter user KING to be IDENTIFIED EXTERNALLY 

Correct Answer: E 

 

 

QUESTION 3

Which two statements are true about date/time functions in a session where NLS_DATE_FORMAT is set to DD-MON-
YYYY HH24:MI:SS? (Choose two.) 

A. CURRENT_TIMESTAMP returns the same date and time as SYSDATE with additional details of fractional seconds 

B. SYSDATE can be queried only from the DUAL table 

C. CURRENT_DATE returns the current date and time as per the session time zone 

D. SYSDATE can be used in expressions only if the default date format is DD-MON-RR 

E. SYSDATE and CURRENT_DATE return the current date and time set for the operating system of the database
server 

F. CURRENT_TIMESTAMP returns the same date as CURRENT_DATE 

Correct Answer: CF 

 

 

QUESTION 4

Examine this command: 

CREATE UNDO TABLESPACE undotbs01 

DATAFILE `undotbs_01.dbf\\' 

SIZE 100M 

AUTOEXTEND ON; 

Which two actions must you take to ensure UNDOTBS01 is used as the default UNDO tablespace? 

(Choose two.) 

A. Add the SEGMENT SPACE MANAGEMENT AUTO clause 
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B. Set UNDO_TABLESPACE to UNDOTBS01 

C. Add the NOLOGGING clause 

D. Make certain that the database operates in automatic undo management mode 

E. Add the ONLINE clause 

Correct Answer: BD 

SQL>alter system set undo_management=manual scope=spfile; Bounce instance. 

SQL> show parameter undo NAME TYPE VALUE 

temp_undo_enabled boolean FALSE 

undo_management string MANUAL 

undo_retention integer 900 

undo_tablespace string UNDOTBS1 

SQL> alter system set undo_tablespace=\\'UNDOTBS2\\'; 

alter system set undo_tablespace=\\'UNDOTBS2\\' 

* 

ERROR at line 1: 

ORA-02097: parameter cannot be modified because specified value is invalid 

ORA-30014: operation only supported in Automatic Undo Management mode 

 

QUESTION 5

Which three statements are true about the Oracle join and ANSI join syntax? (Choose three.) 

A. The Oracle join syntax supports creation of a Cartesian product of two tables 

B. The Oracle join syntax performs better than the SQL:1999 compliant ANSI join syntax 

C. The SQL:1999 compliant ANSI join syntax supports natural joins 

D. The SQL:1999 compliant ANSI join syntax supports creation of a Cartesian product of two tables 

E. The Oracle join syntax only supports right outer joins 

F. The Oracle join syntax supports natural joins 

G. The Oracle join syntax performs less well than the SQL:1999 compliant ANSI join syntax 

Correct Answer: ACD 

https://oracle-base.com/articles/9i/ansi-iso-sql-support 
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